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Temperature and solubility i?
Background knowledge

It is easier to dissolve soluble substances in warm water than in cold water.
However, heat increases the solubility of some substances more than of others.

Science activity
Make a line graph to plot the data from the table. Be sure to connect all the
points after they are plotted. The data shows the solubility of table salt and

of Epsom salts as temperature increases.
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1 Do you see a relationship between temperature and the solubility of table
salt? Explain.
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3 Describe any differences temperature has on the solubility of Epsom salts

as compared to table salt.
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Worksheet: Solubility 6raphs Name /\ NSLIES L L8|
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Use the provided solubility graph to answer the following questions: (
e J/ / y For questions 1 - 4 an amount of solute is given,
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For questions 5 - 8 a solute and temperature are given. Tell how many grams of
each solute must be added to 100 g of water to form a saturated solution at the
given temperature.

5. Pb(NO3). at 10 °C ~ Hl o 7. NaCl at 20 °C ~ 350

6. Cez(S04)3 at 50 °C ~ 3o

For questions 9 and 10 underline the solution that is more concentrated.

8. Ko€r207 at 50 °C 200

e

9. At 10 °C: a saturated solution of KNO;3 or a saturated solution of CaCla.

10. At 50 °C: a saturated solution of KNOj3 or an unSatura'red‘soluhon of NaNO;
consisting of 90 g of the soluTe. dissolved in 100 g of water.
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11. If 115 g KNOj3 are added to 100 g of water at 35 °C, how many grams do not
dissolve?



